;> restart
> f:= Heaviside(#) —2-Heaviside(z — 1) + Heaviside(t —2) : plot( f,t=-3..3)
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[ > g = Heaviside(¢ +2) — 2-Heaviside(¢ + 1) + Heaviside(?) : plot(g, t=-3..3)
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=> h = f+g:plot(h,t=-3.3)
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=> L:=3
| L:=3
_ (1. ] n-Pi-t _
> a, = (L) mt(h cos( I ),t L..L)
a, =0
i (LY. . ( n-Pi-t _ .
> b, = (L) nt(h s1n( I ),t— L..L) :
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> plot(STF5OO, t=0 ..3)
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> STFy,, = sum(bn-sin( I ),n=1..500):
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[ > & :=-Heaviside( +2) + 2-Heaviside(¢ + 1) - Heaviside(?) : plot(k, t =-3..3)
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(> [i=f+k:plot(l,1=-3.3)
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> b =

> STFyy, = C +sum(an‘cos(
[ > plot(STFy, t=0.3)
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C:= ? ao
a,:=0

Sl ),t=—L..L)

4sin(% nn)

- 2sin(% nn)
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=> plot( f,t=-3.3)
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LL: .
LL =1 (6)
a, = (LI—L)-int(f,tZO..Z-LL)
a,=0 %)
a, = simpliﬁ/(subs(sin(n-Pi) =0, (ﬁ)-int(f-cos( n-LPi~t j, t=0..2-LL) ))
a,=0 )
b = sim liﬁ/(subs(sin(n-Pi)ZO cos(n-Pi) = (-1)--n (L)-im(f-sin( ”'P”) =0
n = SUIP : '\ LL LL )’
..2~LL)))
_13\2n _ 1+n
bn:=2(( D"+ (-1 ") ©)
nT
. ( n-Pit
STF, 00y = sum(bn-sm( = ),n=l..1000) :



> plot(STF gy, 1=0..2)
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|_> restart
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> f:= abs(x) :plot(f,x=-5..5)
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> L:=5:a,:= (L)-int(fo—L L); C:= %o
H ‘4 . L , . s . 2
ap =35
_ 3
i = (10)
> g = subs(sin(n-Pi) =0, cos(n-Pi) = (-1)--n, (%)'int(f'cos( ”'12” ),x=—L..L))
_10((-n"=1)
- an
> b = subs(sin(nPi) ~0, cos(n-Pi) = (~1)--n, (%)-int(f-sin( o ),xz—L..L))
b, =0 (12)
> STF, 00 = C+sum(an-cos( n-Pix ),n=l..1500) :

=> plot(STFlSOO, x=-5 ..5)




> plot( [/, STF,500]s x=-0.01..0.01)
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